


FLOOR HINGES

70J"t.:"-::':lI.it ~m ~7i11(.r.J)JIlII ~:J"m. rJl-?
~. 7' ~ r'f"HJ it (kg) (kll'm)

~
90·;:>;r·~7f.t A r ',"1tiL ~ilIIt'l' 7}BI\FY

<j>,L.,mP-l1t-rn-l MH30S MH3Q 1,050 900 120J.-;l.T 2.6
60'

cOO
MH40S MH40 1,200 I 050 1851;i,T 32

~ ;
!~1t MH130S MHIJO 1,067 91' 120l;J,T 2.6. . 11'77- 613. . FJ'1ij MH140S MH140 1,219 I ,067 185l:),T 3.2: :

MIOO1S MIOal 900 70J.-;J,T
±OO100' 90' 7. h'7'1't

MlOO2S M1OO2 950 l00J:)T 598

MlOO35 MIOOJ 1050 1201;.l.T

"ii' MlOO2GS M1OO2G 762 l00VT
#77- 600
F71ij MlOO3GS M100JG 9" 1201;J.T

MT21S MT21 900 800 70VT 2.1
608

MT22S MT22 1,000 900 1001:lT 2.6
<j><c.,mr*J:nOO

M21S M21 900 800 70VT 2.1

ffi
609. . M22S M22 1,000 900 1001;J.T 26

: :
MTJ2S MT32 1,000 900 120VT 2.6

i !
610

MT33S MT33 1,200 1,050 1851:1.1'" 32

M44S M" 1,200 200J:J,T J. ,
:i:B.112S" 90·7.!-':171't 611

M455 MOS 1,600 250l:JT 5.0

M46S M" 1 ,800 280J.-:J.T 5.' 612

" MIl2S MI2l 1,067 9" 1Q01;1,T 26

"" MTl32S MTl32 1,067 9" 120tl,T 2.6
'; 6"A MTl33S MTl33 1,219 1,067 185L:J,T 3.2>
y

Ml44 3.7m M1445 1,219 2001.;J.T

"'''
M121PS MI21P 900 800 70J.-:.lT 2.1

615
~7ffl M122PS MI22P 1,000 900 100l:),T 2.6

9='{,'m-1J1JIl MI051S M1051 70J.-:.lT

D
M1052S MI052 100J.-:.lT 599

M1053S MI053 120l:),T

"it M1052GS MI052G 100J.-:.lT
ti7A 601
F7'ffl M1053GS M1053G 120J.-:.lT

MTJ25S MT325 1,000 900 120J.-:LT 2.6
616

MTJJ5S MT335 I ,ODD 900 120J.-:J.T J. ,

1000,-,')--;A 707' t.;.- ;;G1>0ffl1l!ffl&J;':S"l:flJ I} '11..-- ~ 602·603

" /;;::1..-7 ;'-1f'I1J 71..-- ~ 6"'

i2:'.X11tffl..tTlm/ilJiflit ~ .~ 7't:';f-.;; ~ J:.Tlmcp,l.,m (i2:'.1't) 617'618

'i>{.,m7 [J 7 t: ;.- ;;G1)/.t,fflifJljW.J!;;::1.. 7;.-IfIlIJ71..- f 615

" ;'£IfIlIJ 71..-- ~ 620'621

:::J ;,-y-J" r;t-/~-"'~ r 1'77 o-if M520NS 622

lQlf~A ~ '~/~- MRT35!MRY35 623

597



707t-/:/',!!!;ct ilm I-7Wil p~.

90' A I- 'Y 7ft A I- 'Y 7tj. L, (f-J)11l11 (kg

Ml000
MI00lS MI001 900 70];JT

MI002S MI002 950 100];JT

MI003S MlO03 1,050 120~:'(T

r---- I1O-----j

-.!r-16 118

L 3J'--+---139--­
1----~116--~

m,5

60-'

1--------183--------110

m.~lit.lIllI*;'"

m.'2i1II11.1:f;'"

1----r----3031------~

iil1i~III.~~

.m.mlllll~:""

--95--

--99-

B~~~BlJf ---I
-w~~~~.'-~~----~'

11_32.5,15+-40-+-40
1-----,'170--

63~50--l
1---------~306------_____'

598



M100aSERIES .<P'L'm125·-hllll/~IiUI·~1lJ

7Cl7~/:/~'it ilillJ 171M 17m.
90' A r ,,7"ft A r " 7"tj. t- (ili"J)mm (kg)

M105lS Ml051 900 70rXT

M1052S M1052 950 100r.J."f

M1053S M1053 1,050 120~:J."f

M1llOO

[---I~176--~

170

- 61-26 121
-- --

~-~-I:
--

I
--

I3J 139

f----------~306i------~

95

99

II 'I
11
T1

II II

10

mIMl~I:I:II.I*;'"

m."2a&IIIU:;

4-M5 x 16

52

60

63--,---50

f-----+----283------1

i---f----303------~

.1I1WJDlln·~

.m.G:.I:II_;t.::;

~--f---------IO.W. --;--;;;;-----;;;;------11
4-M6 x 30

10

t=I;mi~~~~=It*~:j_~=H=» =--===;1

:i

_J

599



707t./.y~it
i!!llttl'~ ttl''''.

Ml000
90' A ~ '17'11 A ~ '1 7' tt l (i!i"J)mm (kg)

MI002GS MI002G 762 100]:)T

MI003GS M1003G 914 120~)T

170

- 8 16 118

" " ~or '.,' --

139==:]f.-31

~176

~-FSP x MS x 16
f+'1'il:l1ml+"*;')

111,5

I

~~'§~=$~~,~__ I
1 ;:= ..
i

II 11+-=-10~ f---'-'=--=====-':.::.- -
-59--

1

' ()- l-fSPx8xlL
:~ Wf:il:f1ml')'·Ld

~13)~-~~1~ .~

[ ~~,:;, "-"~;':;<'77"" m I
' ~In ' '" - -'" _,---.L

1--51-
183

J~t_u_-
lIJ~8: ·fSPxM8x15

JII1i~t11I~:.-'

ilMilll!iIIll!H;'
MIJ!l1 iUI.III."*;,

M'!l2iU::.Il!l~·;'

I
'I
"
L

95

99

_J

600



M1 OOOSERIES .<j>,L.,mI2S·-:iJIlIl!l;\i1tt.;'7:A I'rlll

7Cl7~/:;!l!!'<t ;Mill 17~ 1"711<.
90· A ~ '~71t A ~,~ t tt l (*'-l)mm (kg)

MlOS2GS M1052G 762 1001:.lT

M1053GS M1053G 914 1201:.lT

Ml000

110
_I 26 . 121

,~"" 0:11I1 '
- ----G-'J ::;l

~l-
--

--ll9 --
~176

a!

112.5

J
~ a!,

I,,
, ') IL. .J

l r
JL =
~

..
r

~ ~
[L,~I

J
"

20.5

'"a!

I
95-

-99-
m'~lil.l• .I*;"

m'~2i1..IL1!I*:"

.lInlilillllf-t-"

.m_alllll*";"

4-FSP x M5 x 16
Wl'i\l:fnn,j'* :.r)

~J -_-so~_

l-lO-

I
J O,W.

• FSPxM8x25
-'6- --118 V Wf:li:f:fIlIl+,f;") :

! -28 18 18 bJ6-~J6,./ -,L ~'~Ifi__ _I
,II-j~

T I III , i I 1:1 m...sL U I U

l~
, -m ~... ~

. -~
~. -"

1--52-
28J

..

601



;PM I) '/1/- I-
-iilft ') t" c'OJ1±J:JfOJ!*t=70 T I:: /:/ ~li!jIJ/)~I;\i;.g-, TOJIliIOJJ: -) t"li!jIJ/)1JfJ'S ') "' ,OJT '::'W~~<t:'.2' '0

7Dy
t::/V
(l)Jit;ffl

1fffl~J

• ':'j:t3t19JJ

M1002S - AU 25
EI !1!!

...(t~$MlJIi)
(7'7 ':J r 7'",- r'M)

" ,:

L

602



7DJ'
I::::tV
OJJit;ffl
ffffl~J

15~ ') /1/- r-t5*l;RJ...
~50

'0/ T13 ••1-

~J
~13:'±19' ..l+
~316~

603



'/ ::1.-9 /*F.I ') '/1/- r '~JJ7.K!m.*F.I ')~~

.~ .0.-7/, 1JJ,j(f,.:/:'0)1±J:.ljO));iiI=7 0]" t: /~~liil/ll),",ijJrg-, TO)(ji]O)d; -'; ftliil/ll)7JtJ'S ') ;; ,O)'C''::'w~~<t:':"2 L '0

7DJ7
t:/V
O)Jit;ffl

~ffl~J

~(1Ml000:/ 'J-;;(~~.pL.t"to

604

MlOOOll:l
.PJ:7HllJ~, -7JIlMIlJ

¢30 r
!.+-1-_ -1-"'-+ 8

f-+....L -.JJ
I '3 I--LI93 I
C:::::'!.300===:J

~JJ7.K!m.*F.I ')~~
• '::'jiJtI9!J

M1003S-AQ
m II 1!IJ7K717'

MlOOOll:l
.;1]'7 A 1'7IlJ

rh
, R

*MJIfX~;tt.l<"r-~ ~J: -) 7 [] r t: ;"-:.-'7[..-- ~ (J)-:t:..~ ~

~::;.:L-j' /1:~I)i6J;.~L ""tl;l:f.{tt{, J: -j!: L -rT~ '- '0

eI'lJIiilM!ImOlIl1;I;l, ItH,L '"Cr'll:;f,
MIIJ'I'i'/t'i:PLIEI L '"CT2' "0



605



M30S/M40S

~ " ~

"" i·0t*t·~ "~, • J.i

M30S
707~/:y!!!!iI: illll I" 7t1 (l"J) nm 1"7£.

M40S 90' A ~ " :tit A ~ " :tti.l- i*J$1"7 9!-$1"7 (kg)

M30S M30 1,050 900 120tlT

M40S M40 1,200 1,050 185~:J.T

100"F"3:9Hk1
90' A ~ ';I 7"1t

j-_-IOo A ~ ';I/f,(l,

(7)1I*~j:TO)

'8 ':'ilfff-T ~

90°

90'

100°

100"

UO---'1~-1

'----160----l

7!11 -:t~(ml1l)c
7' -t ...... /~.,.-~ 7ClJ"7"v-~e
/
:;~ A B C 0 E F G H

M30S 318 130 95 56 394 50 331 140

M40S 41' 14' 104 '0 '" 60 364 150

-40 40

,,-~-- --7-<,.'

~. ..1.-':

f-------------[----------j
1-R-63--f' G -1
I !--F-,
~~=e-~= --- ~~~~~~~~~~~"""~~~I----.
III / 1.(0••

Ill, ~~"',' . ~ ,
"I ~ ) z 1 '" -
"1\ ,"H;~-~ .~ \ ± 'I

~~~:.t=== __ ~ '.iJ
m,ilJlDII./(}\o,
7'71U~l,.tlT'

I
3-

I
II

==

I~,,
J.~, a!
T

-....-'

606



MH30S/MH40S
•

MH30S
MH40S

4-M5x16
'+;'5>1-*;;

" ~ 1-
:!?' ;;jot

3-Y5xl&i1'H*;;

,12.5- r
~

Jl ,Mix 1
tJli'llRlI1:li:

"rQfr6I@ @@n
- 45 - 30 .L25-25-

t 135,---

•••
·1">0' Q..V • ..

•

MH30S MH30

MH40S MH40

1,050 900

1,200 1,050

120fJT

185fJT

~ ~ ':l7'I:";f-', t- t.l~""":.\I'8'i:l1,
~1:Ut{<t(t-rTt<\.'. (9lJ;tltMH30SU)

I
1'-----8-

8
:~f=.F.~'""'tp=~;';;;;;;~'~-.:;:-*

1.6-!----128.
3' 136

110

l:::~==;l1399---===~116-
60

>'12.5
-r-r-'

~.!J18!1=;;:h--120--

- ow- _. -- ~ -30-'-.84-IiISx3O':t7'1',*;l 16 I

I

~ 1--- 152

I rt. _,;. ~

~~U 1 " " ? " ::!~ ....

, ~~~

I

I-0-----j

i I

I

l

I"-R.63---,-----==".---- , ~I 1iiol.U;;.

Ql.""DI.J'I~7
"17"Uil~I,.,Tf1?

7l1'! -:t~(IlIll)
D
7 1:!..>t/t-Jr-7- 707"7"1..--1-

"~ A • C 0 E H G'lit

MH305 393 11Z 10' 59 406 343 180

MH4{]S 450 "4 III 62 460 397 190

607



MT21S/MT22S
4-1115 x 16
~71j,*V"':-0' I

""-I ..

.l ,M~

IJlUIlIIIII,1J):J\:

;;(tiJ~@",=.~@~@JI~
4 - 45 ~- 30-25-25­
----135----

~ ~ "/7'1::"*"/ ~ ;f;~-l't..::I.i%I=I;t

~"~W.(: U%1t11-CTtx L'0 (1JIJ~'iMT21SU)

7D7t:/:/~'it ;mill r7~(j;'j)mm rn,:11
MT21S (kg)
MT22S 90"A ~ ·y7fi A~·y7ti.1, PlllH7 5'1-llIlr7

MT21S MT21 900 800 70J-;J.T

MT22S MT22 1,000 900 1001-:.1.T

==

-111-

~
170 -~

H,- 136 .
16 118

*"H---~ -~ ~L. ~
~:::"''':''''''''--~-----'!''J~.l

-30-.8-1. .8 ~
18- 136 --

I 151~---

4-M6x30't7,j,"*;,
r-----;'tDlI:~ --

I
~r

---ow--~

'iii I
I ---

I

'it m m ,. h-I
IU LJr v;: , I' t: I~~~ ~"

, , ~

1--56-'" 119 i
~

-jgI I --185
5.5
~

1iroJllIi.~· '/ .!!.allllll"*;'
~l,U:

R.198 ._--J
~2;,U:

135 MiiIlPl.I\)~7

t

~
90"

0' 125"
12S°J*J51-1JI.1
90'~ ~ ';I :t1"t

0"
A ~ _;1:/11. L.
O)JI.g-I;l:'to:>
'8 =-1liiFT e.

US ,ro:..I.ll.l:r.::" 2iliilPlJl .* :/ 125" COo

170 -- - 90 "
1itolllli.!*~

608



U!l:! h7'~",·y f

912.5- -,
~ 4-M5x16

";~
-0' I '-li...+t7'''*'l

.. -I, "'I a!.

-,l~
M8:><J.... U U U.,a-M5X 1& +t7,j,*;

)JlUlIIllIllll1:7\

7[J7t./Y~~ ;gill 1-7~ (f-J) mm ~'711!:. ;;'1 ~@ @ @I~
M21S

90·.A I- " 7"11 .A I- " 7"t,i: L. J'lllll 1-7 9!-lllll'7 (kg) •• (5 - 30-25-25- M22S----135

M21S M21 900 800 70!:JT ~ ~ ~j 7"t';tl Pj "tJ~~.i"tit:li.

.PJC>1I:I:u~;ftt-rT~L'~ (9IJA.ltM22SU)

M22S M22 1,000 900 100!:JT

4-M~x16"t7/J'*;
/

~
- 110--=1

34 I 136!l--m 1F l'l. -$----... -~ a!

31 .~-- -139-- J
--~116 =~

1@~ ~ol=r
, I
, -30-48-~48

r1&- 136
~ --151'---- r- OW

4-M6x3GtJ'7'r;f;'"

/ ~+tl"fi

J. =-JL,==!)
-~UJJrl , u ,

I -l~j~1

-59.5 111.5
3 181

/
f-~-I----U8--­

e.----110----

90'
125

IZs'p;j~lSll

9lT.::t to ~,o'1't

0" ;J, ""I :fti L.
q)J'rS"11"'tQ)
'Ii '::~l'ijji:""F2

125 0 ".
90'

•

---R..198
----135--=:c-:-:-----j- 63

609



. -.

~~~~'i""_=-=-::.---";'~~~~-;;&-"",,--~ :.=i..' • - ~ ::_. -. ~-::::""_iQ'

~ ~ "/7"I:::"if,';1 ~n{,.£4titi(:';t,

J'd<7>I1:l:UH'tit-cT~ I. '0 (gIJxliMT32SU)

-I -
- B!'

'-.!-M5 x 16lf7'J',t'/

4-M5>:: 15
r ft7 /J'.r-;;-

p12.5- I",---

: ,
r

J!
Ull£ll.l.lllI)J;'I:7\

~rm~l:(~~1$'~$"""$n
4 - . 45 - 30 .L2S..L25- I

----135

7[J71::/':;~", jilll I'7~ (*'-I) mm 1'7••MT32S
MT33S 90' A ~ '~7'11 A ~ '~7'to: L, i*JllIl1'7 ~llIl1'7

(kg)

MT32S MT32 1,000 900 120J.:!.T

MT33S MT33 1,200 1.050 185J.:J.T

>'12.5

t J7::::'::==i11399-===j~176-

14-

-------i--.

I
I
I
I

:1
[ ~

-.- - ,

1---
I --._- ~,5113

~- OW__.______3
4-1116x30'1"7+*')

.h m .h rl/ I~..n

- -

~iJjJJ 1 ,;'; "' '" Ii
-l~ ~J

-- 56 265 -.
321

90'
125"

12S'pg9t-m1
90' A t- ") :tit

0' At- ':;7 fiL
(1)1I1Ht"'t0)
'ffi'='~liff;:T~

125" e,.

90'

rr~''''''''1
N•
rr!

,
-'-

25 ,-40 -40-

-"'-1----'146---
--17D

1--------FU34---- -1
63--271-------,

~~••*') ~•••*'J

610



,.

M44S M44

M45S M45

illIl t' 7 1M (f-J) mm t'7>1!:. M44S
9I-mlt'7 (kg)

M45S
1.200 200~.J:f

1.600 250~)'T

.12.5
18

120~~ ~-M5x 16if71J'* ~

T
~~ -

~

e!

J::e I J
~

60 18
3-M5x 16it7.'J'-t;;

~iff:jI
I ....30--L-48-- 48 j
f18 136
I 152

1

-61-.+1-------__21_1. •
1----+-

1

----332

'I

III
Ii

m m

LI!l I

~~~~:;:=~
I I

1----. 1J2-----j

;1jroJl.1I_*:;
,_._-E=-~ ------R.313-·· ------- "1-163-.,--------- -280----• .-..., l
- - 0 -$-

170
1181---

=-

~~.'.. J,~."
~ ~r

m:.UII.*:;

125 0

12S°F*l9i-1'Il
90'7. ~ ':I7'1t

}-----i00 A I- "J/t"L.
O):Ifr%(;l::t: (J)

'ji::1'li::iii:T<:c
1'0

611



(J)

~,.

o
M46S 71J7~/;,)!I'i'i'C

90' A I'"y 7'it A ~ 'Y 7' to: l-

iim r7~(*,,)mm

9!-l'!llr7

M46S M46 1,800 280~~T

, I

___.,,=o,~-~~

o '

-", ~
C'I~~

--'.
-+---153-- J

~-l---R!.191----Jfl· 00 e!
4-M6x 20-!7 Jj,.1:;

4-M6x 20if7'j'*~-136~

==

108-
150-- ~ ~ f---- ,

13 --I ,

J ~,

] U

TL-!

34--1---
-13-!---------ow-- -

, .

ltI n n
_0. J rJ·~~

J,l 1,1 J; 1i I ~~
.~ , "'-'

I- 61 2J1
I 331

3!r--

I25°P'l?'HJI-I
90"A ~ ';l7'1t
A ~·/7ti.l

(7)*.g.(;l'.-'t(7)
'(;i='jtijf-:T2-

90'

125·B·
O'

125" ,
90"®

31.5-25--40 - 40--

~

--"--------'U431---------
-1--------1801-------

~.DII.*;;

~~1"~;----------~®~x~~9rtlM."'LUIi!iI(}~7

612



,. •

~. O·-00 . .. ' . \ '. e

• • • •

7D71:::..-O/l!!iil: ~Ill I' 7 1m (r-J) mm 1'7....
90' A ~ ,~7'1t A ~'~7'ttL F*Jll!It'7 9J.ll!It'7 (kg)

MH130S MH130 1,067 914 120UT

MH140S MH140 1,219 1,067 185UT

MH130S
MH140S

-
TrIII-- I

=

'":; I:
II II, =1 -----.!.

"'t 1 I

I !
I

I

I--_. B

I
T

t- 110

~16 136
12B

.--.~ "''7 [~
-37 139 r~116

ow

-120- -'

l

.1.
7

---
~1O~ 106

, I ;Ii-ttPiIlIli ,

ilr III

w-~ f\
1.1 m II ml ~,., j

J.'" I

Il Jil -=- = ~ --.-J
I

-o-~
I ------ -.

C=--R--13----t---------------------..,.-----=--G-
1ir-JDIIllb

--~

7J1'! 't ;;1;; (mm)
0
7'

1!;t/t-~-;t. 7Q7'1L--re
:-
.;;:it A B C D E G H

MH130S 393 172 104 59 416 343 180

MH140S 450 184 111 62 470 397 190

613



M122S/MT132S/MT133S/M144S .'t"L-/i\12S'Plm#Jllift7i7A mil

7[J7~~.y!!!!rt i!1ll r 7~ (f.J) mm r711ia
90' A I- 'Y 7'f1 .A I- 'y 7' tt l PlJlllr7 jj.JlIlr7 (kg)

M122S M122S M122 1.067 914 100>:.I.T
MTl32S
MTl33S MT132S MT132 1,067 914 120>:.I.T

M144S MT133S MT133 1,219 1,069 18SfJ.T

Ml44S M144 -- 1.219 200l-:J.T

90'
125 0

125'I*J~M

90'A to ., :tit
0 A" ~j:tlj:L.

(7)lI.g.l: :t(J)
5' ':'ili'jj";:T ~

125 ".
90

1

[ ;J,....
; ~,

~

!
, - - B - ,

IL

--~

l

m.1

-~12°7~

10

1---1t+--++---A~---tt-I+

L

F 13 ~_-_~_==-_E-G-_-_-_-_-_~ ·~-_ J ......""
".~'JT.=.">;J'i:r="l;( -­

'/

I
:

7!!2 1" ~(-)c
7 -t!..>/::..- .. .,.-A 71J71'v-~t
;.-
.;;i\:. A 8 C 0 E G H

Ml22S 287 122 63 '.5 308 235 130

MTl32S
321 133 50 56 344 271 I"MT133S

Ml44S 332 172 68 61 353 280 ISO

614



7lJ71::/""ll:i~ iMlll I' 7" (rJ) nrn 1'7._
(kg) Ml21PS

90· A ~ 'Y 7'1t A ~'y7'ttL- ""llfl1'7 9J.llfl1'7 M122PS
MI21PS MI21P 900 800 70~J.T

MI22PS MI22P 1,000 900 100~:J.T

-

,,
"

-I.,;

I"

.b3i-__
122

_~'1 -1- . I - . C
"$., , .... ,

1 I I,..-32-38 -
-59..L 47 1

-1nl- - 106 -.J,

.12.5

- ~ OW4
(-Mlx2~'t7'J'4;;

/ Ii"•••

111 W lil 1J "FlJ
I!L :!: ~

i- 59.5 • 227.5 ---
- ·l3-

3 287

90

125"
125·j;l;j~M

90"A I- ~J:1t-t

0 A I- ...... :1',iL.
(1)iI-a-ti-'tC1>
'ii',::tli;Ji:T~

125 ".
90

615



MT3258
MT335S

U!!H ';l7'~;t.,;; t-

?12.~- ., , ~ (-M5x16

..,7~ to' .! ../;;7'J'*;.;"

.. ""' ', . . . "L~".
,M8xL tl U ~~J-MSX16if7'1'*;;

~~

lltUliIJll'Il:1:1\
/

7 []7'I:::.--Yl!!i'<t ilillJ e 7'<M\ (iII'J) mm e7'!I<. ~f ":r£o) I@ @ @n

90' A I- ,y:tit AI-'y:tt... l F*Jlllle7' ~lllle7' (kg) .- " - 3D -25-25-
----1"

MT325S MT325 1,000 900 120~Tf
~ ~ ';I :t~;f,';J "tJ<..Q:~iili;!:(;l:,

~"~{{l:u%1twrT t: ~ '. (1JIJx(1'MT325U)

MT335S MT335 1.200 1,050 185~Tf

U~

*jlIHlu. ~;6Q)
~.f-tf:ffIJ:l::1"

O:l1:,.::jtijf,TC:

90'

115'Di

O'

48 ~~-

139­
~176

-30-1---49
16--- 136
e--- 152

I-J)-~

.-1!f;;'fi]--120---1

=
I' j =
r-9~ ,

::1
~t ~Lo!l j

~
133

4-MBxJO ;;7'J'-*;;

/ iI<tUUllIi

ow

--

m m m II

II
.~-

~

J! 1 '"
u, u ill I~ ~

~

f- 56 J 1-- 265
321

616



ll!llHiJllll
JllI'itt
il~'yJi:jf(

~Ul'll1

t 173
123-~_H_,__1_5011-0-B---I

r 152--
H6-t---�36-----1

-30' 18 lB
rF:J:~I--===;F=Hr===rr

~;!

~~rL1!l"----139
!--,=--re.158 -I

;12.5 3-"5x16if7+~'l

.~~~~~~'I~~~~ii~~
J

~-": I, I :: Bi
'i' I 3-M5x 16

60---1--- tf7'J'i-'l
15 30

n

MEO -1 MEO-2
(~1;t)

173
150

108--

617



iUlit
" 'y ~
~;j('Y'"
l1'BIl

ME -1
(.:LDJHt) 1="

1~26

... -60-

-l1D---~

--13'--
--128

-~-

ME-2
(iHJHt)

"' ... ~

- B!
~-"Gx20't'H*;;

___ -J,1
1'-+-'--"I"----------'i"I~ 'j'

108 -
150 ­

--113

L
~r
-.1 "

618

ME-3
(iHJ!.1t)

""~.-----l3G
15 "'K1r---95--23! -' __

-~
18

-~ -~--.!.'''¥ @ --'i

r"-30I~"~"-I1--136---------j
151''------

ME-4
(iHJHt)

-- ~

1 1
=I...,~
.... , 7~

I_I

"
(xM6x20 l]-H*;

l =i"g~r J~'---., 1 I
,U U'" j

\4xM6x20<t'H*;

23 -34- - 108 -
1--, -150 -
!- 173---



7DJ"
t:y~

O)Ji1.\ffl
fieffl0lJ

• ,:'ji.:Jt1jlJ

MH130S
il'l lJI!

- + ­
i-

10 M~~OC~~#ffl.~

J ~~-

/-~itQ)J(ll.'M'~f.J<",('~ ~J: -')7071:: :"'--//1.--- ~(J)*~ ~
~V.:J..-:$' /':~I)~JJ.Z L. -ntt.J<1t{>J;: -JI:L ""(r~l.\o

~, 7D7l:::'--V7L--- ~O')*~~(iU&*~~zUlJ
~Jl.{rF~l.\

er,jJijliil!J!lIll'lO>ll;ll;l:, j!'HI- ~ -rh'"PlI: Ii> <>
lMlIm.,P~IEI~ -rT<eL',

:/.:I. -:$' /m7"v- ~-t5*

.M22S .M44S/M45S

*["63'::=:::",,;2.33'::5===
rn63

343
280-

.MT32S/MT33S
___231

- r4 1
1

~-63 293
406

354

i'---j$- + 1
T

~ r
- IJcl--.o 315

425 --

.M542S/M543S/M544S(*~'Hillllffl)

*63 27\--
334

.MT325S/MT335S

619



7DJ7
!:::YV
0)JiE;1lI
1i!1lI~J

.... (t~~~~)
(7'7 'Y "71/- "!l:i)

.:Et4l$~"'\' ';I //v- ~

:ti*,l) /1.--- ~ IlX5'f-L::/<:;

• '::';'iJ<::f§lJ

MT32S-AU-25
m flit ~ :q~",

I*~it.bill

I <

k11---, -

•
I

620



AU~

.M21S/M22S .MT32S/MT33S .M44S/M45S

---,++._----iH- M

T
-134----J_-2

'-----:334------l

•_63

-133-1---:

1----:343------J

1
--1..---:3'5-5---I

'------425----~

.M542S/M543S/M544S
(*""""'11I1"n

1----:334------l

• MT325S/MT335S

113--1----293

1----'406---.J

BU~OHl!l~1.5)

.M21S/M22S .MT32S/MT33S .M44S/M45S

--'-_-:210
1---:343------J

.M542S/M543S/M544S
I (*""""'11111l!)

0 ~ lr ~- ;1 j;N

-TT
- 301--8 315

425
1----334------J

'-----:334------J

• MT325S/MT335S

113--1--293

1_--298------l

.MH30S

1-----406;----J

.tf?Amltl l)lj63tJ(73t tt l} iT.
0"'t(1)fIMmf±t:lb~L"'(iii) I."'.

621



M520NS

7-1""', f7',,- fIll11t1'7--<>J:l<m1B1!!I
(~;);,:mlffltt:1J/\'-7'v- ~ 't"u"'t)

M52Cl'lS
7[Jr~;"-Yj\!!'t.

illll rrj;(rJ)mm
rrill.

(kg)90" A ~ ,~7'it A ~,~7't":l

M520NS M520N 900X2,100 65~:J.T

f71iliMIIl
IIJxttlJliilti
t.lI{-'1v-~1'

",~ >!"".

90'

liS"

0'

IlS"

90'

4 M611l~

2-M6 X 25 ;'<Pl;f,M
2-M6 ;'<Pl,h f 311

1\PlI\Mi! 0 'J 7 if)\; ~

--120

- 1\

I- -~ 70 ~240---------1/
-- __ -- ~~lJ, --t~ ,f"I

t . T
I ~4~~~ ~~

F
207 '-... 3-M41,,- f

- 8-47 230 8~ MIlUilllIH1
-55 238

293

""
I

~

4-M6x 20- --- --_.- - ---265- - --- T-- --

401-38 I- - - -219- -
~

"'t7 I J';?-:/ =
'c:' I ~ TJ
~dti-I ~ .1,1-- --

MJl! '" M6 X 25111'1'*;; a!

3-- -67- =c

M6X25

79.;f- ~A7'v- ~ (~iII'7[J7_1l1U)

622



MRT-35(~~)

28 1-----84--

MRY-35(~~)

r----84---j

I 84 I

~12 i sJ¥8-
~

623




